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Note:	 The question paper is divided into three sections A, B and C. 
Write answers as per the given instructions.

{ZX}e :	 ¶h àíZ nÌ "A', "~' Am¡a "g' VrZ IÊS>m| ‘| {d^m{OV h¡& àË¶oH$ 
IÊS> Ho$ {ZX}emZwgma àíZm| Ho$ CÎma Xr{OE&

	 Section - A	 7 × 2 = 14
(Very Short Answer Questions)

Note:	 Answer all questions. As per the nature of the question 
delimit your answer in one word, one sentence or 
maximum up to 30 words. Each question carries 2 marks.

	 IÊS> - "A'
(A{V bKw CÎmar¶ àíZ)

{ZX}e :	 g^r àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo àíZmZwgma EH$ eãX, 
EH$ dm³¶ ¶m A{YH$V‘ 30 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 
2 A§H$m| H$m h¡&

1)	 (i)	 What is DDL?

		  DDL ³¶m h¡?
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	 (ii)	 What do you mean by ACID property?

		  ACID àmonQ>u go AmnH$m ³¶m VmËn¶© h¡?

	 (iii)	 What is candidate key?

		  H¡$ÝS>rS>oS> H$s ³¶m h¡?

	 (iv)	 Write the syntax of DROP query.

		  DROP ³doar H$m qgQ>o³g {b{IE&

	 (v)	 What is weak entity set?

		  {dH$ EÝQ>rQ>r goQ> ³¶m h¡?

	 (vi)	 Define Generalization in DBMS.

	 	 DBMS ‘| OZabmBOoeZ H$mo n[a^m{fV H$s{OE&

	 (vii)	What is BCNF?

		  BCNF ³¶m h¡?

	 Section - B	 4 × 7 = 28
(Short Answer Questions)

Note:	 Answer any four questions. Each answer should not 
exceed 200 words. Each question carries 7 marks.

IÊS> - ~
(bKw CÎmar¶ àíZ)

{ZX}e :	 {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 
200 eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 7 A§H$m| H$m h¡&

2)	 Explain ACID property in DBMS.

	 DBMS ‘| ACID JwUY‘© H$mo {b{IE&

3)	 What is object oriented database system? Explain.

	 Am°ãOo³Q> Amo[aEÝQ>o‹S> S>mQ>m~og ³¶m h¡? {b{IE&
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4)	 Write the difference, between entity and attributes.

	 EÝQ>rQ>r Ed§ EQ´>rã¶yQ> Ho$ ~rM AÝVa {b{IE&

5)	 Differentiate between Ternary relationship and Aggregation.

	 Q>a²Zar [aboeZ{en Ed§ EJ«rJoeZ Ho$ ~rM ‘| AÝVa {b{IE&

6)	 Describe the concept of full functional dependency (FFD)

	 nyU© ’§$³eZ {S>noÝS>oer Ho$ {gÕmÝV H$mo g‘PmBE&

7)	 What is Generalization? Explain.

	 OZabmBOoeZ ³¶m h¡? {b{IE&

8)	 Write a short note on DBA.

	 DBA na g§{jßV {Q>ßnUr {b{IE&

9)	 What is Entity Relationship Model? Explain.

	 EÝQ>rQ>r [aboeZ{en ‘m°S>b ³¶m h¡? {b{IE&

	 Section - C	 2 × 14 = 28
(Long Answer Questions)

Note:	 Answer any two questions. You have to delimit your each 
answer maximum up to 500 words. Each question carries 
14 marks.

IÊS> - g
(XrK© CÎmar¶ àíZ)

{ZX}e  :	 {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE& Amn AnZo CÎma H$mo A{YH$V‘ 500 
eãXm| ‘| n[agr{‘V H$s{OE& àË¶oH$ àíZ 14 A§H$m| H$m h¡& 

10)	 Discuss the various types of keys that are used in relational 
model. Explain with the help of example.

	 [aboeZ ‘m°S>b ‘| à¶w³V {d{^ÝZ àH$ma H$s (Hw§$Or) H$mo d{U©V H$s{OE& 
CXmhaU g{hV g‘PmBE&
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11)	 What is normalization? How is it useful in a good Database 

Design?

	 Zm°‘©bmBOoeZ ³¶m h¡? EH$ AÀN>o S>mQ>m~og {S>OmBZ ‘| ¶h H¡$go Cn¶moJr 
h¡?

12)	 Write short note on the following:

	 {ZåZ{b{IV na g§{jßV {Q>ßnUr H$s{OE&
	 (i)	 Internet Database / BÝQ>aZoQ> S>mQ>m~og
	 (ii)	 Integrity Constraints / BÝQ>r{J«Q>r H§$ñQ´>oÝQ>
	 (iii)	 Join Dependency / Om°BZ {S>noÝS>oer
	 (iii)	 Multivalued Dependency / ‘ëQ>rdoë¶y {S>noÝS>oer
	 (iii)	 Relational Algebra / [aboeZb ~rOJ{UV (EëOo~«m)

13)	 Explain E-R modelling with the help of database for a hospital 

management system.

	 hm°ñnrQ>b ‘¡ZoO‘oÝQ> {gñQ>‘ S>mQ>m~og H$s ghm¶Vm go E-R ‘m°S>qbJ H$mo 
g‘PmBE&


